[ ReconstructedAllAssoc2Gen_X |

[ ReconstructedAllAssoc2Gen_Y |

Reco vertex pos r (cm)

| ReconstructedAllAssoc2Gen_NumVertices |

3
<

Ratio

0.05

0.04

0.03~

0.02

0.01—

Entries 1000
Mean 67.29
Std Dev 15.69
TRttt R |
Entries 1000
Mean 71.63
Std Dev 17.08
T T T
Entries 1000
Mean X

................

20 40 60 80 100 120 140
Number of reco vertices

?10. - - Entries 63191 70 X —| Entries 63191
o . : ey Mean 0.1048 Mean 0.015
o : - Std Dev___0.001318 Std Dev 0
GO <-4 -- et R B R N EFLILLIIIILLEE 60 ]
o : ¢ [Entries 67087 Entries 67087
r : : Mean 0.1048 : Mean -0.015
5O - s ;-4 StdDev_ 0.001287 50 .. | std Dev 0
r : : ; ; ; ; I
F : i [Entries 67087 Entries 67087
r . . ... Mean 0.1048 Mean -0.015
40: : . |stdDev_ o.001287 40 i |std Dev 0
30F SARE I EERRHEE R O U SRR SRR SR SR TR
P I B S SR P4/ R S O SO A OO N A
K0 A SRt SIEE O & Y SR S 0 AL SLL LT SLRLE A
o J-G-;I l [ I'—F.' I l I l o J.G.;””
ST ST S YR S S S S & 105F
O
0-9%55.020,040,060.08 0.10.120,140.160.160.2 09556590, 080..070.060.050.040.030.030-01 0
Reco vertex pos x (cm) Reco vertex pos y (cm)
m—— DQM_mkFit_TT_baseR3_noSel_ok
=== DQM_mkFit_TT_base_8iter_noSel_ok
@ m— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok
= 70 a3 E—— e Entries 63191 = Entries 63191
r : T : | Mean 0.1025 - Mean 1.252
F : | StdDev  7.441e-05 5000F------ LEREEEEE [AEETEERE 2 (RERE Std Dev 5.654
(10| TR PR B Veeeeteeiite.ore...] r " : : I
- : : Entries 67087 B : Entries 67087
o : + | Mean 0.1025 L : Mean 1.269
T . .i.lStdDev  6.96e-05 FiT0]0]0] uEEEEREFEEEEEEEETEEREE B »--fy- - | Std Dev 5.871
SOF : : ; ; ; r : ; ;
C . . [Entries 67087 [ : Entries 67087
R | Mean 0.1025 - : Mean 1.269
40 StdDev  6.96e-05 1C10]0]0] uEEEEEREEEEEEEERTEERE | [N N B StdDev 5.871
) LR RRCE SRRAUES | KL SEEN ERE IR AL C §
- 2000f -+ +keeeeeiefee Lt
L S A i | IR A C :
C ; (1010]s] ESERRRRNERRRR | B PR ERRREE SR
T e SRh SR S | B S - L
o l(l;' N P | | i | i o +Opm——d *IAHH:HH{EHI : -
B 1.05E---deoooree e PRRS! FE ; AT S . L J— U AAUSTYISS S
ek : S : # : +++ : b { *H :
I [T P R R ...
0.05- E L R T
oE .t : : : . : : : : e e Tyt AR A
“0 0.020.040.060.080.10.120.140.160.180.2 -30 -20 ~-10 0 10 20 30

Reco vertex pos z (cm)

[ ReconstructedAllAssoc2Gen_NumTracks |

>
= 10 10 Entries 63191
Mean 21.65
Std Dev 22.9
H H H |
8 __________________________________ Entries 67087
Mean 20.87
Std Dev 22.64
H H H |
Entries 67087
"""""""""""""""""" Mean 20.87
6
Std Dev 22.64
4
2
o J..k.B
=
¢
o

iy

20 40 60 80 100120140160180200

Number of tracks in vertex fit



	Contents
	Page 1


